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The resistor in this circuit, R1, has a 

small resistance.

There is a reading on both ammeters.



It is replaced by resistor R2 which has a large resistance. 
(a)
What happens to the reading
(b)
What happens to the reading 

on ammeter A1?

on ammeter A2?

Tick ONE box ()
Tick ONE box ()


It gets bigger.


It gets bigger.


It stays the same.


It stays the same.


It gets smaller.


It gets smaller.

(c)
How would you explain this?

Tick ONE box ()


The bigger the resistance, the bigger the current.


It is the same battery, so it supplies the same current.


Increasing the resistance makes the current smaller everywhere in the circuit.


Increasing the resistance makes the current smaller after it.  It has no effect on the current before it.


Increasing the resistance makes the current smaller after it.  So the current before it gets bigger.

How confident are you that your answers to this question are correct? Tick ONE box ()


Very confident
Fairly confident
Not confident
Just guessing







R2 - large resistance
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R1 – small resistance
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